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This Question Paper consists 30 pages. Of this 36 questions including 3 figures for New syllabus and 36 questions
including 3 figures for Old syllabus and 1 page of Graph.
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AIRAT e .
MATHEMATICS
(wrforer)
(211)

Day and Date of Examination

(wfem =1 o1 7 o)

Signature of Invigilators 1.

(Fria=i & zmER)

General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives
given in the question ie. (A), (B), (C) or (D) and indicate your correct answer in the
answer-book given to you.

4 All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

5 Making any identification mark in the answer-book or writing roll number anywhere other
than the specified places will lead to disqualification of the candidate.

6  Write your Question Paper code No. 46/OS/1-A on the answer-book.

7 (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box
provided in the answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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2

el YIS % UBW USS UX STUAT STghHI% Had g |

FUAT UL B A W 6 YT b FA 63 qAT U9 N Al & e & R v yes
% 999 SU B ¥ | 39 91 Bl Sd W B o [ U wiw ®U H ¥ |

TS w9t | simum! A faeedt (A), (B), (C) 99T (D) ® € &3 T SOX gl & qam &
T FOC-gRaw § ey wd SO fefaw |

JERITSS Al % Fg-wg G Al b X MUiia sty & WA 8 3 § | aggTse uedl
% foq ot o wHE @ fen s |

ST-giaw § wean-fE W sgen Midw Wl & sl @8l W sigwaie faes
TOEl @l g SEET SR |

SO ITT-YRABT TX TS dt dwrs dem 46/0S/1-A fae |

() WU cheael TESN/SUST § ¥ | fiey o, afy s T @ e Y S fedll we W O S
T g €

Hicpull, ARG, orEfEl, U, weHdl, @@pa i e |

FuAT IAC-gRAH1 7 Ry U giem W fod % onmu Rew et § Sx fow w R

(@) afy e & ud iU % arfafiea fpet o o o SO foad & o w9 @ aus
¥ 8 el gieat | it w e daw st g
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) ( IMPORTANT INSTRUCTIONS } .

1.  This Question Paper Booklet contains two Question Papers - one based on revised
study material marked as “New Syllabus” and the other based on pre-revised study
material marked as “Old Syllabus”.

2. New Syllabus is compulsory for those who have registered for 2012-13
(Block-I) admission. (Those who are appearing in April 2013 wunder
“New Syllabus”.)

3. Old Syllabus is compulsory for those who had registered before 2012-13
(Block- I) admission.

4.  Answer only one Question Paper from given two Question papers.

5.  Learners are not allowed to mix questions from the two given Question Papers.

: ( wewmi o ) ,

1. 39 U gRaee W & Weus ¥ ¢ Uw Henitw Hemdw wwl woenana & fw
XA wesRn iR § 99T gEU €elled § UE oiemdd annll Uy onend § o™
W QA U e § |

2. WO TR o9 qlendd & fou etvadd § R Amies 2012-13 (st 1) o
T ¥ | (S ela 2013 H U Rk & ofda qden ¥ o7 W w ¥ )

3. YOI USRI UIeeEl % fau sitEn § fee Amies 2012-13 (@e-1) &
UEW TAM ¥ |

4. wOedl e TRy % TR kAW UH YA Hl & Tlam & |
5. qlemedl @ & U % WA bl M@H IAT & Bl RN Gl § |
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MATHEMATICS NEW
(rforer)
(211)

New Syllabus / a1 9&ERH

Time : 3 Hours] [Maximum Marks : 100
qeg ¢ 3 g ] [quif : 100
Note : (1)  Question Numbers (1-14) are Multiple Choice Questions. Each question carries

one mark. For each question, four alternative choices A, B, C, D are given,
of which only one is correct. You have to select the correct alternative and
indicate it in the answer-book by writing (A), (B), (C) or (D) as the case

may be.
(2) Question Numbers (15-24) carry 2 marks each.
(3) Question Numbers (25-33) carry S marks each.
(4) Question Numbers (34-36) carry 7 marks each.

(5) All questions are compulsory.

o ¢ (1) usT e (1-14) 9@ sEfaewedl 97 (Multiple Choice Questions) ¥ | 3H
T UA® ST Uk 3 Bl & | UAH W & UK dsbieds saX A, B, C, D
fod ™ % I 4 a9 O% 99 % | Ul Wel [geed gAl % S (A),
(B), (C) sgam (D) st Al IX &, 3§ Ia¢ YRae # faem s |

(2) WT GE (15-24) ¥ € UA® 2 3 b1 |
(3) WST "Em (25-33) H € UA® 5 il @1 |
(4) WST e (34-36) UAH 7 Sfhl dw ¥ )

(5) 9 weT sfEE ¥ |
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as : 1

1 0.0625 can be written in the form g

0.0625ﬁ§%wﬁﬁwmﬁ1@ww%:

1 5
(A) 3 ®) 3

5 1
© T (D) e

2 If x=1 is a zero of the polynomial F(x)=x*>—5x+k, then the value of k is : 1

AR x=1 SgUE F(x)=x?-5x+k & =% ¥, A k & WE ¥

(A) 4 B) -4
€ 6 D) -6
3 5 gm is what percent of a kilograme ? 1
5 UM Tk fpaum & fhde widetd & sxEX ¥ 7
(A) 10 B) 5
(C) 05 (D) 0.05
4 Marked price of a shirt is I 500. A customer buys the shirt for ¥ 400, 1

the rate of discount is :

THh HAW BT Sifhd I T 500 ¥ | U UEEH 39 HAW Bl T 400 ¥ @l ¥,
U A Tl S

(A) 20% (B) 22%
(C) 25% (D) 30%
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5 In a triangle, the point of intersection of perpendicular bisectors is called : 1
(A) Incentre (B) Orthocentre
(C) Circumcentre (D) Centroid
T Brgst & w9 quigveel @ dhieded g wEewn €
(A) eidh= (B) wud=

(C) U= (D) =

6 The length of the tangent from a point 4 to a circle, of radius 3 cm, is 4 cm. 1

The distance (in cm) of A from the centre of the circle is :

3 Ul B o g9 W R fag 4 9 R T owmel T @ @ 4 8
TIRg AN IO & &% og & @ @ #) § ¢

A V7 ®B) 7
© 5 (D) 25

7 ABCD is a cyclic quadrilateral in which « BCD=100° and £ ABD =70°. 1
The £ ADB is :

ABCD w#h ¥sig ugdst & e £ BCD=100° wd £ ABD=70° |

ZADB &1 HH ®

(A) 100° (B) 70°
(C) 30° (D) 15°
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SsinA—-4cos A .

8 If = h h \ f — : 1
Stan A=4, then the value o Sein A+ 4oos A is
SsinA—4cos A
StanA=4 ; :

TR Stan al S5sinA+4cos A LU

A > B >

) 3 ® -

1

© < D) 0

9 If tan”45° —cos?30° = x-sin45° - cos45°, then the value of x is : 1

Tl tan245°—cos2300=x~sin45°~cos45°, M x ® AT T

1
A) 2 B -
(A) (B) >
C ! D) 2
©) > D)
10 The value of cosec?67° —tan”23° +1 is - 1

cosec’67° —tan?23° +1 &1 7 T -

(A) -1 ®) 0
© 1 D) 2
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11 The value of (sinzA—l)-cosec2 (900—/1) is 1

(sinzA—l)-cosec2(9Oo—A) ® A T

A) -1 ®B) 0
© 1 D) 2
12 If the arithmetic mean of 5, 8, 6, 7, x and 4 is 6, then the value of x is : 1

qfg 5,8, 6, 7, x 9UT 4 ® GHGI WA 6 %, @ x B AN ¥

(A) 4 B) ¢
C€) 8 D) 12
13 The median of first six prime numbers is : 1

YIH W AYSY TS Bl Hedw §

A 7 B) 6
C€) 5 (D) 4.6
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14 In the bar graph given below, which game is played by the maximum number 1
of students ?

= 4T omiE ¥, @ @ Ww afuwad il s e S o7

,,,,,,,,
oooo
% Y

No. of Players (Raarisal @ den)
W~
|

Football  Cricket  Hockey  Volleyball
(FeT) (feree) (zTeR)) CIRIEIE))

Games (€d) .
(A) Football (B) Volleyball
(C) Cricket (D) Hockey
(A) B (B) dTwIaTe
(C) Trdhe (D) Tl
OR / s

(For Visually impaired learners only)
(Sparet itz fepetin frenfidi & foro)

A Histogram consists of :

(A) Triangles (B) Rectangles
(C) Squares (D) Sectors
wH oad fom §oed ¥
(A) Bt (B) amad
(C) =t (D) PFrugre
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15 Simplify the following : 2

= @ W @iy

V12 +2427 -5./48

16 Multiply 2x? —x+1 by x+1. 2

2x2 —x+1 & x+1 & T g |

17 By selling a shirt to a customer for ¥ 360 a shopkeeper makes a profit of 20%. 2
For how much should he sell it to make a profit of 30% ?

TH FHER (6 TEH B Th FAS L 360 H I=aT 20% WH HASq & g
30% W SAfSd ®IA & [AY IW qE BAIS fhAd v W duel ey ?

18 Find the centroid of a triangle ABC whose vertices are A(3,-1), B(10,7) and 2

C(5,3).

Uk UHl YN ABC @ %%d wa sig fEe sy A(3,-1), B(10,7) de
C(53) T 1

19  Two adjacent angles of a rhombus are in the ratio 4:5. Find all the angles of 2

the rhombus.

TH FHEgHS % & WO B 45 % ogue A ¥ | gwegds & W & g«
BT |
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20 In the figure given below AB=AC and £ DAC =132°. Find the angles of 2
the triangle.

= omBfd & AB=AC T £DAC=132° % | Bgst & & 5@ &g |

AL )132°

21 In the figure given below O is the midpoint of AB and CD. Prove that AC =BD. 2

o sl o favg O W@ ws AB @@ CD @1 #e7 745 ¥ | Rag #ifsg 76 AC = BD.
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22 A farmer buys a circular field at the rate of ¥ 700 per m? for ¥ 316800.
Find the perimeter of the field.
% feE™ % 700 Wid a1 WX W W ¥ TH AR @d < 316800 H @lEdl
% 139 Wd @ uE S| Hieg |
23  Perimeter of an isosceles triangle is 30 cm and each of the equal sides is
12 cm. Find the area of the triangle.
s @fEaE s @& uiem 30 T % q@n wEW ogenen ¥ ¥ udw 12 '
IR 2 B el | G 1 L
24  Prove that :
fog @i f6
l. + 1 = 2sec? 4 .
I+sin4A 1-sinA
25 Find the HCF and LCM of P(x)=x3—8 and Q(x)=x2—3x+2.
P(x)=x" -8 @ O(x)=x*-3x+2 % HeaH WHUGA® Td WYAH GHIID
=IId EﬁlﬁQ |
. 4, . .
26 A fraction becomes 5 if 1 is added to both numerator and denominator.
If, however, 5 is subtracted from both numerator and denominator, the fraction
1
becomes 5 Find the fraction.
. . . 4
afs fedl =1 & oigt @ s SAF A 1 W T W @ = @1 W 3 HEEIG]
. . 1
T 1 U, AR &y ok B ANl ¥ S5 U femn wWe A e @ wm 5 HESIGI
L S B ICECIS L
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27 The 5t and 12th term of an AP. are 23 and 37 respectively. Find the sum of 5
the first 40 terms of the AP.

Th AT gl &1 591 9u7 12971 98 HE: 23 Ug 37 ¥ | 39 9HiaY g%l %
YW 40 Y& BT I S BIWT |

28 A scooter is available for ¥ 30,000 cash or ¥ 15,000 cash down payment 5

followed by four equal monthly instalments. If the rate of interest per annum

1
charged under this instalment plan is 335 %, find the amount of each instalment.

WH ®heX T 30,000 FHE FIAH FHerEm X 15,000 T YA ST 3HE @i
IR 99 A fewl ¥ Suwey ¥ ol 39 Tee o & orla =™ @

- 33§%%,am?aasﬁmaawamaﬁm

29 Prove that in a right angled triangle the square on the hypotenuse is equal to 5

the sum of the squares on the other two sides.

fog #IfT 6 T Toemr B &, ®of & ot 9w < yomelt & ot F A &
I ol §

30 If all the sides of a parallelogram touch a circle, then prove that the 5

parallelogram is a rhombus.
afs fpdl TR Tgds o ol Yol Th g9 Bl Wyl A ¥, @ fag @i
o TwiaR TgYs uh FHEgHS |
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31 The angle of elevation of the top (T) of a building (BT) from the foot (F) of 5
a tower (FA) is 30° and the angle of elevation of the top (A) of the tower (FA)
from the foot (B) of the building (BT) is 60°. If the height of the tower (FA) is
150 m, find the height of the building (BT).

Th AR (FA) & 9§ (F) § s wav (BT) & Bmx (T) &1 S=ad @i

300% X waw (BT) &% U (B) § WM (FA) & fy@X (A) &1 I==9 &l
60° ¥ | I MR (FA) & FurE 150 MeX &, @ wad (BT) & A oA
HIT |

32 If the mean of the following data is 6, find the value of P : 5

iy T oilepst &1 Wew 6 %, A P @l UM S i

X |2 4 6 10 (P+5)
F{323 1 2

33 A pair of dice is thrown once. Find the probability of getting 5
(1) same number on both dice
(i) a total of 9

(iii) an even prime number as sum.

El @7 Ueh SISl U SR hepl STl &1 MEfaRiad &l Ut &< bl Wiehdn
S BN

(i) < el WX UE Sl e ® |
(i) < umEl @l genstt ® A 9 =

(iii) < el @ demsll ® AN Us 99 SHnd §e ® |
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1 2 6

34 Check whether the roots of the quadratic equation, o 2+ﬁ:; are real
or not. If yes, find the roots. (x#0,1,2)
. 1 2 6 . .
Sita it fe feama et x_2+ﬁ=;%51ﬁfa'lﬁﬁiﬁ%ﬁw;@f |

afe B, @ g6 A @iy | (x#0,1,2)

35 Construct a triangle ABC in which AB = 6 cm, BC = 7 cm and AC = 5 cm.

2
Construct another triangle 4'B(' similar to it whose sides are g of the

corresponding sides of the first triangle.

wh IS ABC @ W@ wisie @9 4B = 6 ¥, BC = 7 ¥Hl d=
AC =5 &9 | 39 BIye & @wev & UE g 0 RS 4'BC' @ W@

oy Foral ot o e @ T gl @ > A

OR / st

(For Visually impaired learners only)

(e gfe frrai et ¥ fo)

Write the steps of construction to construct a triangle ABC in which BC = 4 cm,

/B=60° and AB-AC=12cm.

s UH e ABC @ W@ % fag W & ue fafaw e BC = 4 94,
/B=60° 991 AB—AC =12 ¥ |
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36

The circumference of the base and height of a right circular cylinder are 7

44 cm and 10 cm respectively. Find its volume, curved surface area and total

surface area.

TH WIgUA 96T b g B Uy ud SAw wAs: 44 ¥ we 10 ¥ ¥
SH 9@ B AECH, Wb O %A U FA YO &% S eieg |
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MATHEMATICS OLD
(vrforer)
@11)

Old Syllabus / JUAT 9T&rRA

Time : 3 Hours] [Maximum Marks : 100
qeg ¢ 3 g ] [quifs : 100
Note : (1)  Question Numbers (1-16) are Multiple Choice Questions. Each question carries

one mark. For each question, four alternative choices A, B, C, D are given,
of which only one is correct. You have to select the correct alternative and
indicate it in the answer-book by writing (A), (B), (C) or (D) as the case

may be.
(2) Question Numbers (17-26) carry 3 marks each.
(3) Question Numbers (27-34) carry 5 marks each.
(4) Question Numbers (35-36) carry 7 marks each.

(5) All questions are compulsory.

o ¢ (1) usT e (1-16) 9@ SEfaewedl 97 (Multiple Choice Questions) ¥ | 3H
T UA® ST Tk 3k Bl & | UAH W & UK dsbieds saX A, B, C, D
@ ™ % B 4 %9 0% 98 7 | oUR Wel [geed gAl 8 S (A),
(B), (C) stgmr (D) Sl Wl S &, 39 Iar-gras # faen e

(2) WS "E (17-26) ¥ € UA® 3 3iht @1 |
(3) U W&l (27-34) H W UA® 5 bl w1 ¥
(4) WsT W& (35-36) WA® 7 bl B T |

(5) 9 weT sfEE ¥ |
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1 0.625 can be written in the form P as . 1

q

0.625ﬁ§%wﬁﬁwwﬁi@ww%:

25
W 5 ®
o . D) -
© D) 3
1
2 The value of (ﬁj s 1
256
1
(ﬁj435[qﬁ%1
256
A) — B) -—
O ®)
© -3 ©) -3
3\ (3% (5Y
3 Given that 5 - 5 = 3 , the value of x is : 1

372 3y (sY
ﬁm;sgaﬂ%ﬁs(gj +(—) =(—j arx w A ¥

5 3
A) -9 ®) 9
<€ -5 D) 5
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4 The graph of the linear equation 3x+2y =06 intersects the y-axis at the point : 1

Waeh T 3x+2y=6 & AW y-7& & 7 § ¥ oo g w0 ufoede

FHEA R 7
(A) (2, 0) B) (0, 2)
€ G, 0 D) (O, 3)
5 List price of a television is ¥ 18,000. If the rate of sales tax is 10%, 1

the amount paid by a customer to purchase the television is :

fordl *lifee @1 gt e ¥ 18,000 %) Afy fwAl &) A & 10% %,
A TH URH BRI SH TANISE Bl @A & W PIAE hi T AR ¥

(A) T 19800 (B) T 18180
(C) % 18800 (D) T 19080
6 If 5, x, 20 are in continued proportion, the value of x is : 1

gt 5, x, 20 faad @wgud § ¥, @ x @ AW ¥ ¢

(A) 1 ®B) 5
(C) 10 (D) 20
7 X borrows from ¥ I 10,000 at 10% per annum simple interest. At the end 1

of n years X pays ¥ 12,000 to ¥ to clear the loan, the value of » is :

X5 79 T 10,000 aRe =@ W 10% aiife @ X ¥ IR fow) 3l » oad
% ofd § ®S geM & T X ¥ ¥V & T 12,000 w, @ » & A9 ¥ ¢

(A) 1 B) 2
© 3 (D) 4
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8 40 workers can do a work in 10 days. Number of workers require to complete 1
the work in 8 days is :

40 =fe H wE W 10 T 9 qU X wwd | IH e @ 8 e H g w.
&% T T =il & smasaear @i @7 ¥ o

(A) 80 (B) 50
(C) 32 (D) 24
9 Which of the following is not a criterion for congruence of triangles ? 1

frfafad & § @ Brgst @ gatmeear & fog afdey 7@ 27

(A) SAS (B) ASA
(C) SSS (D) SSA
10 O is the centre of a circle as shown in the figure given below. 1

If LPAQ=40°, £ZOPQ is :

frdl g9 @1 &= 0 ¢ San T F omapfa o emen mm %)
afs /PAQ=40° @ <OPQ @& 99 ¥ :

(A) 40° (B) 45°
(C) 50° (D) 80°
46/0S/1—211_A | 20 [IARRER MO [ Contd...
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11  Area of a square is 196 cm?. Diagonal of the square (in cm) is : 1

TH I B AFABA 196 T W T w@ @ fawel (@ oH) ¥ ¢

(A) 562 (B) 282
©) 142 D) 742
12 Diameter of a semicircle is 7 cm. Perimeter of the semicircle is : 1
(A) 36 cm (B) 22 cm
(C) 18 cm (D) 11 cm

TH HdgT b AE 7 YW ¥ 3@ AfgA w1 uRHT ®
(A) 36 ¥ (B) 22 ¥
(C) 18 W (D) 11 &

4sin A—cos 4
13 If 4tanA=3, then is :

4sin A+ cos 4 1
4sin A—cos 4
A) = B) -
A 3 ®) -
o = D) >
© 5 (D)
46/0S/1—211_A | 21 [NNCNCOAAAN D OREART - [ Contd...
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14 The value of cosec? 57°—tan?33°—tanZ 45° is : 1

cosec? 57°—tan? 33°—tan2 45° ®I AN ¥

(A) -2 B) -1
© o D) 1
15 The class mark of the class 80-110 is : 1

a1 80-110 @1 =7 fa= ¥

(A) 80 (B) 95
(C) 105 (D) 110
16 Which of the following can not be the probability of an event ? 1

frfafad & 9 @, foa gem & aRes T2 8 a7

1
@ 3 B) 0.2
12
© 5% © =
17 Simplify the following : 3
e MEANK R I L

340 +3 3625 — 43320 +3135
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18 Simplify the following into the lowest form : 3

e & gaad ' 4 WA sy
X =27 [ x*+2x-3
x2—9 . x+3

19 Find the 12 term from the end of the AP. : -2, -4, —6, ...

TR AW 2, 4, -6, , —100 @I o & 1241 WT FE i

20 G.CD. of two polynomials P(x) and Q(x) is (x+1) (x2+1) and their LCM. 3

is x*-1. If P(x)=x3+x2+x+l then find Q(x).

& sgwEl P(x) T Q(x) ® HA. (X+1)(x2+1) T R o wg. xt -1 ¥l

P(x):x3+x2+x+l, ar Q(x) T BT |

1
21  Calculate the compound interest on ¥ 12,000 for 15 years at the rate of 3

10% per annum when interest is compounded Half yearly.

1
10%3&353?@(?12,00011115 qY B THGRE SN T BT SE(h AT

yfd BARE A E R
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22 A and B start a business with I 70,000 and I 80,000 respectively. 3
They earn I 50,700 as annual profit. If ¥ 1500 per month out of profit is

paid as rent, find the share of each after paying rent.

A @R B %A I 70,000 T T 80,000 § AUR IRH &Xd &1 3= < 50,700
w1 dies @1 Biar ¥ I ww § q T 1500 wiqme fewmn fmn w8, ar feen
R Lk A B 1o 0 B ) O e

23  Find the points on the X-axis which are at a distance of 2./5 from 3

the point (7,-4).

X-38 W U9 g 7@ &g s g (7,-4) & 25 @ g8 W ¥

24 In the figure given below AD is the internal bisector of LA of A ABC. 3

Find the value of x.

fr1 omgfa o, Y@m@e AD, Bigs ABC & & A, &1 e GHigwed |
X % A T &g

X x+2

B 2 D x-1 C
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Perimeter of a square and circumference of a circle are equal. If the area of
the circle is 616 cm?, find the area of the square.

Th O bl URHT SR Tk g dl U THE E ) AR g9 @l ased 616 @ qH
g, A @ e S i

Prove that :

g oIV T

sin 4 N 1+ cos 4
1+cos 4 sin 4

=2cosec 4

Solve the following system of linear equations graphically :

fr=fafaa e odieeor Mem o swar fafy 9 =« *ifg

2x—y =38
x—2y=1

OR / st

(For Visually impaired learners only)

(Faw ghe fwam faiid ¥ fow)

The sum of digits of a two digit number is 15. The number obtained by
reversing the order of digits of the given number exceeds the given number
by 9. Find the given number.

&l ikl ®I Ueh &A1 o bl &1 INT 15 &1 3 &1 & 3hl & WM W@ gEad
WU HE, & FF e ¥ 9 afhw B Sl §1 A g3 € A &gl
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. 65 .
Th eIl 8 SHh gohd bl AN §% | gl S @i
29 A cooler is available for ¥ 9600 cash or for ¥ 4000 cash down payment
followed by three equal monthly instalments. If the rate of interest under this
. . 40 .
instalment plan is 4454 per annum, find the amount of each instalment.
TH HEX < 9600 ThE AW HAAT X 4,000 I AW X 3Hs I A FHH
A 4
Hitees frel o Suetey §1 39 f& Ao % AT Al S @l X g% ClIRED
T, @ URE T @ eIt T @i
30 Each side of the parallelogram ABCD touch a circle as shown in the figure
givenbelow. Show that the parallelogram ABCD is a rhombus.
T agys ABCD &l U&i% ol UWeh g &l @l &I & oen fo6 e Siepia
# o W %) A @i @ e SgYs ABCD U% SHEgyS B
D G C
®
F
A E B
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65
The sum of a number and its reciprocal is R Find the number .
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31 Construct a trapezium ABCD in which AB| DC, AB=6cm, AD =4 cm, 5
BC =35 cm and perpendicular distance between AB and DC is 3 cm.
Th GIa™ ABCD & W& &I @9 AB||DC, AB = 6 &9, AD = 4 &,
BC =35 %W a9 4B td DC & 99 &=ad g0 3 9 ¥
OR / syt
(For Visually impaired learners only)
(fFaw gfe faram frnfiai & foo)
Write the steps of construction to construct a A ABC in which AB = 6 cm,
BC =4 cm and median CD = 3.5 cm.

Th A ABC, S@H AB = 6 91, BC = 4 99 X #ifegest CD = 3.5 99, @& &
% o, @ & 1g fufan)

32 A conical vessel of internal diameter 14 cm and height 36 cm is full of water. §
This water is poured into a cylinder with internal radius 21 cm. Find the height
to which the water rises in the cylinder.

14 T AN® A9 SR 36 YU SO I U SRR a9 UFl ¥ 9T gl
Tl T8 T 21 9 ot Bl O Uk deMeR g H Sl S &1 s
BT 5 el fRal SO T dEeR 999 ¥ 9e SIa|

33 Find the mean of the following data : 5
= effesl &1 Aew o @ity
Class Frequency
() (aréarrzen)
10-20 2
20-30 3
30-40 5
40-50 7
50-60 5
60-70 3
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A bag contains 30 balls of which x are red, 2x are green and 3x are white.
A ball is drawn from the bag at random. Find the probability of getting a :

(i) white ball

(i) non red ball

wH O H 30 e ¥ OREd ¥ x e @m ¥, 2x W' ' ¥ &Y 3x T ®hE ¥
90 A ¥ wH T A5 w0 ¥ Fem S §) e o® ura s @ wiieean
A BT

(i) Us g%e g
(i) @ Vg & oifafed s gl

Prove that in a right-angled triangles the square on the hypotenuse is equal
to the sum of the squares on the other two sides.

g #ivT 6 el gaaiw Bs § @00 & ot 9w @ genet & anf & anr
% IO BT ¥

The angle of elevation of the top (T) of a tower (BT) 30 m high from
the foot (C) of another tower (CD) in the same plane is 60° and angle of

elevation of the top (D) of the tower CD from the foot (B) of the tower (BT) is
30°. Find the distance (BC) between the towers and also find the height (CD) of

the other tower. (/3 =1.732)

UH MR (CD) & UR-fag (C) &, S€l a« # & 30 HRX A "MK (BT) &
i f&g (T) @1 S ®o 60° § ofX AR (BT) & UR-fag (B) & WK
(CD) & i f&g (D) & I=T & 30° ¥ 9 & &9 & g0 (BC) 3

HMY X JMR (CD) & o | 7d HWT | (3 =1.732)
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